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ARBETSBLAD 26

Multiplikation med uppställning (III)
	
1	 a)  12 ∙ 80 = __________	 b)  200 ∙ 32 = ___________	 c)  13 ∙ 500 = _________

	      	      	      

2	 a)  1,3 ∙ 80 = __________	 b)  0,23 ∙ 400 = __________	 c)  7,2 ∙ 300 = _________

	      	      	      

3	 a)  400 ∙ 0,63 = __________	 b)  0,52 ∙ 200 = __________	 c)  600 ∙ 2,3 = _________

	      	      	      

4	 a)  0,51 ∙ 4 000  = __________	 b)  600 ∙ 0,75 = __________	 c)  2,6 ∙ 900 = _________

	      	      	      

5	 a)  70 ∙ 8,25 = __________	 b)  8,3 ∙ 500 = ___________	 c)  0,65 ∙ 400 = _________

	      	      	      

6	 a)  6 000 ∙ 0,312 = _________	 b)  1,45 ∙ 3 000 = _________	 c)  3,14 ∙ 700 = _________
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ARBETSBLAD 26 – FACIT

Multiplikation med uppställning (III)

1	 a) 960
	 b) 6 400
	 c) 6 500

2	 a) 104
	 b) 92
	 c) 2 160

3	 a) 252
	 b) 104
	 c) 1 380

4	 a) 2 040
	 b) 450
	 c) 2 340

5	 a) 577,5
	 b) 4 150
	 c) 260

6	 a) 1 872
	 b) 4 350
	 c) 2 198


